poth criteria.
} A company is evaluating the following Project : : _
| ' Cost 710,000
Cash inflows : Year 1 SR
2 10005 e b
3 © 2000
: 4 105000 St aniiagns
1 f;mpute the Internal Rate of Return and comment on the pm—jééﬂ;i{' the opportunit
BMA o B
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.Y, the detalls of Wthh are : s :
§ s e S Venw e e Project X ""f‘rFiTi_:i:'.""--,~;m__1?'roje¢g;y-;
S st s T S ) 21,00,000 . .. %1,00000°4
1 2 10,000 50,000 :
2 20,000 ; e mnsd0,000 500
g 30,000 20,000
4 LA5,000. e 10,0000 0
; 5 60,000 - 10,000
Compute the Net Present Value at 10%, Proﬁtab111ty Index, and Internal Rate of Return

for the two proj cts ; R

Cash inflows
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Jolly company has an mvestment opportunlty costing ¥ 1,00,000 W1th the fOHOWm
expected cash inflow. \ : :

- Using 10% as the cost of capltal (rate of discount) determlne (l) Net Present Value- anc]"'
(i) Profitability Index. 3

Solution:
Calculatlon of Net Present Value 5

NPV = ¥ 96,361 ~ 31,00,000 = — ¥ 3,639
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? 1 00 000 nd .UUO_.‘—‘

any requxres an m1t1a1 mvestment of z 40 000 The eshmated net cas'
(F:,gures gl S o s

o 2 3 gl
W T 000 7,000 37 000 7 000 7 000 ‘8 000 10 000 15 000 10 000 4 000

Net cash flo
Using 10% as the cost of capital (rate of dlscount), determme the followmg 5

\(_i.) Pay-baCk pe'rlod (it) Net P_resent Value and (m) Internal Rate of Retum

Solutwn- ' LR b ey R L 3

-()PaybackPel‘lOd : G EATeRE e e U e
Initial outlay =3 40 000
Cashﬂows for 5 years

?35000 T
~ =7%40,000 - 35,000 = ?5000

Balance outlay

Cash flow for year 6 i ?8,000 e ety

Therefore, Payback peried o = 5 years e 8 000 Fore
e "—562years

ii) Nef .Present Value (at 10% cost of capltal)
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1 : : 5 . : iy | ;'.— !
- Brlght Metals Ltd ]-S CUD.Sldel‘lng tWO d]_fferent anEStment rox\(‘ i
: .detalls are as under ‘ 5 o i : P posals A and B |

"-'-_:‘Investment Cost' R T e it o e ?9,500 '.:_.Pl_.'_.(’%losa_l_ 2|
Estimated Income : ~ Year1l A 00058 22’000 i
e e Year 2 ;i iiio 34,0005 i 8880

Year 3 4,500 '12'003.:-'_ |

Suggest the more attractlve proposal on the basis of the NPV method conmdermg the
the future i incomes are dlscounted at 12%. Also find out the IRR of the two propogals v % ]

. Solutwn. 2 _
Evaluatlon of Investment Proposal (Net Present Value Method) dln,

Proposal B has higher NPV, and therefore, it should be accepted.
Calculatlon of Internal Rate of Return :

'In case of Proposal A, the discount factor should be ralsed from 12% and tested at, say,
£ :14% and 15%. Similarly, for B the same should be tried at, say, 17% and 18%. The purPQSB is
o "-to ﬁnd out at what point the present value of inflows are equal to ¥9,500 and ‘\" 20 000

"' ProjectA e , ~ ProjectB
: NPV_@ 12% T 464 T il E NPV @I12% T 2064:_5.’. :
NPV.@14%:3122." - " .o’ NPV@17% T 176
r NPV @15% 785 & Faibvn oo 2  NPV@18% 3-172
"Interpolatlon between 14% and 15% . ' ‘_'Interpolatlon between 17% and 18%

122 - 176
22 ><1_14 78% *‘;IRR 17%+

RR 14%+

122 (—- 35) 176 (- 172)
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;&BE&‘* o LAl CHNIQUES OF gvm__umo"

=
o 3

) Calculate NPV of the proposals at dlscount rates of 15%, 16,0, :17%, 18%, 19% and L

20%.
(ii) Advise on the project on the basis of IRR method.

Solution:

Computation of Present Value of Cash Inflows of Different Projects

e

Calclllnhon of IRR ; el
";Jiacm Since outflow of 7 22,000 is falling between 722,235 and T 21 630, the IRR mtu;it_' e
R“t“'e"n 19% to 20%. So, mterpolatmg the difference of ¥ 605 between 19% and 20% e- S

I Lomestn 1939% :

b IRR = e P (20 -19) = 19 39% e spvt
- ,,MMB 235 - (- 370) st
: Smce outflow of ¥ 27,000 is falling between 7 27,464 and T 25 684 _thedrim mth ‘

‘ - b tWEQ
IRR %me:t?f; to 18% So, mterpolatmg the d:ﬂ'erence of ? 770 betWeen 17%

".;___IRR 454 Sl _;5‘9?.
BB 17 " 151 - (—-216)“18.‘1 ._17;).;. by
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